Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal http://www.mathbalkanica.info

or contact:

Mathematica Balkanica - Editorial Office; Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria Phone: +359-2-979-6311, Fax: +359-2-870-7273, E-mail: balmat@bas.bg

Mathematica Balkanica

New Series Vol. 13, 1999, Fasc. 3-4

On Approximation by Modified Kantorovich Polynomials

Zoltán Finta

Presented by Bl. Sendov

We establish some approximation properties by Kantorovich type polynomials for a function $f \in C^r[0,1], r=0,1,2,\ldots$

AMS Subj. Classification: 41A10

Key Words: approximation by polynomials, Kantorovich type polynomials

1. Introduction

By $C^r[0,1]$ ($C^0[0,1] = C[0,1]$), r = 0,1,2,..., we denote the set of all functions $f:[0,1] \to R$, with a continuous derivative of order r on the interval [0,1]. For the function $f \in C^r[0,1]$, r = 0,1,2,... the generalized Bernstein polynomial of (n,r)-th order was introduced by G.H. Kirov [2]:

$$B_{n,r}(f;x) = \sum_{k=0}^{n} \sum_{i=0}^{r} \frac{f^{(i)}(k/n)}{i!} (x - k/n)^{i} \binom{n}{k} x^{k} (1 - x)^{n-k}. \tag{1}$$

The author proved, among others, the following theorem.

Theorem A. Let $f \in C^r[0,1], r = 0,1,2,...$ and $B_{n,r}(f;x)$ be the generalized Bernstein polynomial of order (n,r) for f. Then,

$$||f - B_{n,r}f||_{\infty} = O(n^{-r/2}\omega(f^{(r)}; n^{-1/2})),$$
 (2)

where $||g||_{\infty} = \sup\{|g(x)| : x \in [0,1]\}$ for arbitrary $g \in C[0,1]$ and $\omega(g;s) = \sup\{|g(x) - g(y)| : x, y \in [0,1], |x-y| \le s\}$ is the modulus of continuity of the function g in the segment [0,1].

The modulus of continuity in $L_p[0,1]$ of the function f is the following function of $\delta \in [0,\infty)$:

$$\omega(f;\delta)_p = \sup\{\|\Delta_h f\|_p : 0 < h \le \delta\},\tag{3}$$

where $1 \leq p < \infty$.

For a function $f \in L_p[0,1] (1 \le p < \infty)$ the Kantorovich polynomials are given by

$$B_n^*(f;x) = \sum_{k=0}^n p_{n,k}(x)(n+1) \int_{k/n+1}^{k+1/n+1} f(t)dt, \tag{4}$$

where $p_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k}$.

Let us introduce the following Kantorovich type polynomials.

Definition. A generalized Kantorovich polynomial of (n, r)-th order for a function f, with $f^{(r)} \in L_p[0, 1]$, r = 0, 1, 2, ... is said to be the polynomial

$$B_{n,r}^*(f;x) = \sum_{k=0}^n p_{n,k}(x)(n+1) \int_{k/n+1}^{k+1/n+1} \sum_{i=0}^r \frac{f^{(i)}(t)}{i!} (x-t)^i dt.$$
 (5)

For r=0 from (4) and (5) it follows the equality $B_{n,0}^*(f;x)=B_n^*(f;x)$.

2. Main results

The object of this paper is to give similar results to Theorem A for the generalized Kantorovich polynomials.

Theorem 1. Let $f \in C^r[0,1]$, r = 1,2,3,... and $B_{n,r}^*(f;x)$ be the generalized Kantorovich polynomial of order (n,r) for f. Then,

$$||B_{n,r}^*f - f||_{\infty} = O(n^{-r/2}\omega(f^{(r)}; n^{-1/2})).$$
 (6)

Theorem 2. Let $f \in C^r[0,1]$, r = 1,2,3,... and $B_{n,r}^*(f;x)$ be the generalized Kantorovich polynomial of order (n,r) for the function f. Then,

$$||B_{n,r}^*f - f||_p = O(n^{-r/2}\omega(f^{(r)}; n^{-1/2})_p), \tag{7}$$

where $1 \leq p < \infty$.

On Approximation by ...

Proof of Theorem 1.

Using the modified Taylor's formula

$$f(x) = \sum_{i=0}^{n} \frac{f^{(i)}(t)}{i!} (x-t)^{i} + \frac{(x-t)^{r}}{(r-1)!} \int_{0}^{1} (1-u)^{r-1} \{f^{(r)}(t+u(x-t)) - f^{(r)}(t)\} du$$

and the equality $B_n^*(1;x) = 1$, from the definition of the modulus of continuity and (5) of the generalized Kantorovich polynomial, for every $x \in [0,1]$ we obtain:

$$|f(x) - B_{n,r}^{*}(f;x)| = \left| \sum_{k=0}^{n} p_{n,k}(x)(n+1) \int_{k/n+1}^{k+1/n+1} f(x) dt \right|$$

$$- \sum_{k=0}^{n} p_{n,k}(x)(n+1) \int_{k/n+1}^{k+1/n+1} \sum_{i=0}^{r} \frac{f^{(i)}(t)}{i!} (x-t)^{i} dt \left|$$

$$= \left| \sum_{k=0}^{n} p_{n,k}(x)(n+1) \cdot \int_{k/n+1}^{k+1/n+1} \frac{(x-t)^{r}}{(r-1)!} \right|$$

$$\times \left(\int_{0}^{1} (1-u)^{r-1} \left\{ f^{(r)}(t+u(x-t)) - f^{(r)}(t) \right\} du \right) dt \left|$$

$$\leq \sum_{k=0}^{n} p_{n,k}(x)(n+1) \cdot \int_{k/n+1}^{k+1/n+1} \frac{|x-t|^{r}}{(r-1)!} \right|$$

$$\times \left(\int_{0}^{1} (1-u)^{r-1} \cdot \omega(f^{(r)}; u|x-t|) du \right) dt.$$
(8)

Since $\omega(g; \lambda s) \leq (\lambda + 1)\omega(g; s), \lambda > 0$, then

$$\omega(f^{(r)}; u|x-t| \cdot n^{1/2} \cdot n^{-1/2}) \le (u|x-t| \cdot n^{1/2} + 1)\omega(f^{(r)}; n^{-1/2}).$$

Thus we have the estimate

$$|f(x) - B_{n,r}^*(f;x)| \le \omega(f^{(r)}; n^{-1/2}) \cdot \sum_{k=0}^n p_{n,k}(x)(n+1)$$

$$\times \int_{k/n+1}^{k+1/n+1} \frac{|x-t|^r}{(r-1)!} \left(\int_0^1 (1-u)^{r-1} \cdot \{u|x-t|n^{1/2}+1\} du \right) dt$$

$$= \omega(f^{(r)}; n^{-1/2}) \cdot \sum_{k=0}^n p_{n,k}(x)(n+1) \cdot \int_{k/n+1}^{k+1/n+1} \left\{ \frac{|x-t|^{r+1}}{(r-1)!} \right\} dt$$

$$\times n^{1/2} \int_{0}^{1} u(1-u)^{r-1} du + \frac{|x-t|^{r}}{(r-1)!} \int_{0}^{1} (1-u)^{r-1} du \bigg\} dt$$

$$= \omega(f^{(r)}; n^{-1/2}) \cdot \sum_{k=0}^{n} p_{n,k}(x)(n+1) \cdot \int_{k/n+1}^{k+1/n+1} \bigg\{ \frac{|x-t|^{r+1}}{(r+1)!} n^{1/2} + \frac{|x-t|^{r}}{r!} \bigg\} dt$$

$$= \omega(f^{(r)}; n^{-1/2}) \cdot \bigg\{ \sum_{k=0}^{n} p_{n,k}(x)(n+1) \cdot \int_{k/n+1}^{k+1/n+1} \frac{|x-t|^{r+1}}{(r+1)!} \cdot n^{1/2} dt$$

$$+ \sum_{k=0}^{n} p_{n,k}(x)(n+1) \cdot \int_{k/n+1}^{k+1/n+1} \frac{|x-t|^{r}}{r!} dt \bigg\}.$$

$$(9)$$

Using the elementary inequality $(a+b)^r \leq 2^{r-1} \cdot (a^r+b^r)$ for $a,b \geq 0$ and r=1,2,3,..., we have:

$$\int_{k/n+1}^{k+1/n+1} |x-t|^r dt \le 2^{r-1} \int_{k/n+1}^{k+1/n+1} |x-k/n|^r dt$$

$$+ 2^{r-1} \int_{k/n+1}^{k+1/n+1} |k/n - t|^r dt = 2^{r-1} \cdot n^{-r} \cdot \int_{k/n+1}^{k+1/n+1} |k - nx|^r dt$$

$$+ 2^{r-1} \cdot \left\{ \int_{k/n+1}^{k/n} (k/n - t)^r dt + \int_{k/n}^{k+1/n+1} (t - k/n)^r dt \right\}$$

$$= 2^{r-1} \cdot n^{-r} \cdot \frac{1}{n+1} |k - nx|^r$$

$$+ 2^{r-1} \cdot \left\{ \left(\frac{k}{n(n+1)} \right)^{r+1} \cdot \frac{1}{r+1} + \left(\frac{n-k}{n(n+1)} \right)^{r+1} \cdot \frac{1}{r+1} \right\}$$

$$\le 2^{r-1} \cdot n^{-r} \cdot \frac{1}{n+1} |k - nx|^r + \frac{2^r}{r+1} \cdot (n+1)^{-(r+1)}.$$
So,
$$\sum_{k=0}^{n} p_{n,k}(x)(n+1) \int_{k/n+1}^{k+1/n+1} \frac{|x - t|^r}{r!} dt$$

$$\le \sum_{k=0}^{n} p_{n,k}(x) \cdot \frac{2^{r-1}}{r!} \cdot n^{-r} |k - nx|^r + \sum_{k=0}^{n} p_{n,k}(x) \cdot \frac{2^r}{(r+1)!} \cdot (n+1)^{-r}$$

$$= \frac{2^{r-1}}{r!} \cdot n^{-r} \sum_{k=0}^{n} p_{n,k}(x) |k - nx|^r + \frac{2^r}{(r+1)!} \cdot (n+1)^{-r}.$$

On Approximation by ...

Using the Cauchy inequality and the obvious identity

$$\sum_{k=0}^{n} \binom{n}{k} x^{k} (1-x)^{n-k} = 1,$$

we get

$$\sum_{k=0}^{n} |k - nx|^{r} p_{n,k}(x) \le (S_{2r}(x))^{1/2}, \quad x \in [0, 1],$$
(12)

where $S_m(x) = \sum_{k=0}^n (k - nx)^m p_{n,k}(x)$, m = 0, 1, 2, ...

On the other hand, it is known ([3], p.248), that for every $x \in [0, 1]$

$$|S_m(x)| \le K(m) \cdot n^{[m/2]},$$
 (13)

where K(m) is a constant, depending on m, and $\lfloor m/2 \rfloor$ is the integer part of m/2.

From (11)-(13) the estimate

$$\sum_{k=0}^{n} p_{n,k}(x)(n+1) \int_{k/n+1}^{k+1/n+1} \frac{|x-t|^r}{r!} dt$$

$$\leq \frac{2^{r-1}}{r!} \cdot n^{-r} \cdot \sqrt{K(2r)} \cdot n^{r/2} + \frac{2^r}{(r+1)!} \cdot n^{-r}$$
(14)

$$= n^{-r/2} \cdot \left\{ \frac{2^{r-1}}{r!} \cdot \sqrt{K(2r)} + \frac{2^r}{(r+1)!} \cdot n^{-r/2} \right\} = O(n^{-r/2})$$

follows.

In a similar way, we obtain the following estimate

$$\sum_{k=0}^{n} p_{n,k}(x)(n+1)n^{1/2} \int_{k/n+1}^{k+1/n+1} \frac{|x-t|^{r+1}}{(r+1)!} dt$$
 (15)

$$\leq n^{-(r+1)/2} \cdot \left\{ \frac{2^r}{(r+1)!} \cdot \sqrt{K(2r+2)} + \frac{2^{r+1}}{(r+2)!} \cdot n^{-(r+1)/2} \right\} \cdot n^{1/2} = O(n^{-r/2}).$$

The estimates (14)-(15) together with (9) implies (6) and the proof of the theorem is completed.

Proof of Theorem 2.

For p = 1 we have

$$\int_0^1 (1-u)^{r-1} |f^{(r)}(t+u(x-t)) - f^{(r)}(t)| du$$

210 Z. Finta

$$\leq \int_0^1 |f^{(r)}(t+u(x-t)) - f^{(r)}(t)| du \leq \omega(f^{(r)}; |x-t|)_1
\leq (|x-t|n^{1/2}+1) \cdot \omega(f^{(r)}; n^{-1/2})_1.$$
(16)

Then, by (8) and (16), we obtain

$$|f(x) - B_{n,r}^*(f;x)| \le \omega(f^{(r)}; n^{-1/2})_1$$

$$\times \sum_{k=0}^{n} p_{n,k}(x)(n+1) \int_{k/n+1}^{k+1/n+1} \frac{|x-t|^r}{(r-1)!} \left(|x-t| \cdot n^{1/2} + 1 \right) dt \tag{17}$$

$$=\omega(f^{(r)};n^{-1/2})_1\cdot\sum_{k=0}^np_{n,k}(x)(n+1)\int_{k/n+1}^{k+1/n+1}\left\{\frac{|x-t|^{r+1}}{(r-1)!}n^{1/2}+\frac{|x-t|^r}{(r-1)!}\right\}dt.$$

The next estimates are carried out analogously to the estimates (10)-(13) for the preceding theorem. Then, by (17), we get:

$$|f(x) - B_{n,r}^*(f;x)| \le \omega(f^{(r)};n^{-1/2})_1 \cdot \left\{ n^{-r/2} \cdot \frac{r(r+1) \cdot 2^r}{(r+1)!} \sqrt{K(2r+2)} \right\}$$

$$+ n^{-r-(1/2)} \cdot \frac{r(r+1) \cdot 2^{r+1}}{(r+2)!} + n^{-r/2} \cdot \frac{2^{r-1}r}{r!} \sqrt{K(2r)} + n^{-r} \cdot \frac{2^{r}r}{(r+1)!}$$

$$= O(n^{-r/2} \cdot \omega(f^{(r)}; n^{-1/2})_{1}).$$
(18)

Hence, $||B_{n,r}^*f-f||_1=O(n^{-r/2}\cdot\omega(f^{(r)};n^{-1/2})_1)$ and the proof is complete for p=1.

If 1 then, by Hölder's inequality, we have

$$\int_{0}^{1} (1-u)^{r-1} |f^{(r)}(t+u(x-t)) - f^{(r)}(t)| du$$

$$\leq \left\{ \int_{0}^{1} |f^{(r)}(t+u(x-t)) - f^{(r)}(t)|^{p} du \right\}^{1/p} \cdot \left\{ \int_{0}^{1} (1-u)^{p(r-1)/(p-1)} du \right\}^{p/p-1}$$

$$\leq \omega (f^{(r)}; |x-t|)_{p} \cdot \left(\frac{p-1}{pr-1} \right)^{p/p-1}$$

$$\leq (|x-t|n^{1/2}+1)\omega (f^{(r)}; n^{-1/2})_{p} \cdot \left(\frac{p-1}{pr-1} \right)^{p/p-1}.$$
(19)

Then we have the estimate

$$|f(x) - B_{n,r}^{*}(f;x)| \leq \omega(f^{(r)}; n^{-1/2})_{p} \cdot \left(\frac{p-1}{pr-1}\right)^{p/p-1}$$

$$\times \sum_{k=0}^{n} p_{n,k}(x)(n+1) \cdot \int_{k/n+1}^{k+1/n+1} \left\{ \frac{|x-t|^{r+1}}{(r-1)!} \cdot n^{1/2} + \frac{|x-t|^{r}}{(r-1)!} \right\} dt$$

$$= O(n^{-r/2} \cdot \omega(f^{(r)}; n^{-1/2})_{p}), \tag{20}$$

using similar calculation to (18).

Therefore, (20) implies $\|B_{n,r}^*f - f\|_p = O(n^{-r/2} \cdot \omega(f^{(r)}; n^{-1/2})_p)$, which was to be proved.

Remark. Our theorems are established for r = 1, 2, 3, ..., because the problems of characterization of $||B^*f - f||_p$ were treated by many authors. We mention the following result [1, p.117].

Theorem B. Let
$$f \in L_p[0,1]$$
 and $\varphi^2(x) = x(1-x)$. Then,
$$||B_n^* f - f||_p \le M[\omega_\varphi^2(f; n^{-1/2})_p + n^{-1}||f||_p], \tag{21}$$

where $\omega_{\varphi}^2(f;\delta) = \sup\{\|\Delta_{h\varphi}^2 f\|_p : 0 < h \le \delta\}$ is the Ditzian-Totik modulus of smoothness.

References

- Z. D i t z i a n, V. T o t i k. Moduli of Smoothness, Springer-Verlag, New York-Berlin-Heidelberg-London-Paris-Tokyo, 1987.
- [2] G. H. K i r o v. A generalization of the Bernstein polynomials, Mathematica Balkanica (New Ser.) 6, No 2, 1992, 147-153.
- [3] I. P. N a t a n s o n. Constructive Function Theory, Gostechizdat, Moscow-Leningrad, 1949 (In Russian).

Fac. Mathematics and Informatics Babeş-Bolyai University M. Kogălniceanu 1 3400 Cluj-Napoca, ROMANIA e-mail: fzoltan@math.ubbcluj.ro Received: 03.12.1996